Math 1295 Fall 14 IMTA Jo/unons

1. Find Ey =g/ for the following functions.
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(b) ze¥ —5zy + 2y”* = cosy

(c) y=(z®+ 1)




2. Use linear approximation to estimate the value of ¥/33. Is your approximation mere or less than the
actual value. Explain. (This question must be done without the use of a calculator.)
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In(t — 1) + .

at the point where £ = 2 for the parametric equations
Y
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3. Compute the values of -j—z and
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4. An elastic band is attached to the points Q(0,5), R(7,0), and P. The point P moves on the line
y = 1.2z getting away from the origin at a speed of 1.7 units per second.

(a) How fast is the z-coordinate of the point P 127 _
changing? y=1.2x
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(b) How fast is the shaded area increasing when the point P is 15 centimeters Kfrom the origin?
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